Y elemL &elT

1. &600T GOl

uuimé 1.1
1. (1) ®evoro (i) sevonoeden  (i1i) &evorid (Iv) sevoroeden
2. () {, N, D, A} (i) {P, A,R, L, E, O, G, Miii) {M, |, S, P}

(iv){C,Z,E,H,O,S,LL, V, A, K, I}

(@) ()eh (i) o iy poupy (i) o Vsam (V) sem
@) (A (i)C (i) & (iv) €
4.()A = {2, 4, 6, 8,10, 12, 14, 16, 18} (i)B={% 15 %15]
® (iil) C = {64, 125} (iv)D={-4,—3,—2,—1,0,1,2} ®

5. (i) B ={x: x eredrug pmeT &ieuGssl GumLligsefle) ST enL& §501458 bHuw 6T}

(i) C = {x (x= n_rll_ pnE N} (iii) D = {x : x eT60TLIG T S}6TOTIqEVI6TEN SHLOLD LOTHLD }
(iv) E ={x : x etevTIg O &3 eXlL& &nfluwi @memm (Lp(p 6Tevor}

6.() P= ' 6TE0TID 6T(LRSHSHIED FHIEURIGLD SYraidleD NGhigerleT &6voTD
(i) Q = 5 wLOHMID 31 B5& BewLLILLL LST 6T6voTSH6r{l60T SH600TLD

(i) R = 5 g3 eMIL& Al @uwi6d eT6vOTSH6Ifl60T &600TLD

(iv) S = gpridled GLoUIAI(RS SIS 60T &H6T0TLD

Lufhél 1.2

L@)nM) =6 (i) n(P)=5 (iii))n(Q) =3 (iv) n(R) =10  (v) n(S) =5

2. (1) peeymy (i) weyor  (iii) weyor  (iv) ¢preym)

3. (i) sLOMEDT BeTOTRIGET (ii) LM SHETThSET (iii) &0 HETOThISET (iv) FLOMEDT &H6UoTThIGET

alenLaar | 321 NG
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4. (i) eeupmibseond (i) eeubmibseond (il @umiiubseomd  (iv) Sleubmiésewor
5. (i) eeu ol seumhser (i) Qe LTé seomhsdt (i) Qeul kb seuThiseT
6. (i) {sgumb, smiegmb} (i) {euLib} (iii) {ep&Gameod) (iv) {}
7.4}, {a}, {a, b}, {a, {a, b}}
8. () {{}, {a}, {0}, {a, b}}

(i) {{ 1, {15 {25 {35 {1, 2}, {1, 3}, {2, 3 }, {1, 2, 31}

(i) {{ }, {p} 1} {rhs {sh, {ps b {p> 11 {ps sb {gs 13 4gs sb A sb APy g5 7 P> g5 s} {ps 1 b,
{q, 7. s}, {p> g, 7> s} (iv) P(E)= {{ }}

9.(1) 8,7 (ii) 1024, 1023
10. (i) 16 (i) 1 (iii) 8
uuwimd 1.3
) 1. (i) {2,4,7,8,10} (ii) {3, 4,6, 7,9, 11} (iii) {2, 3, 4,6, 7, 8,9, 10, 11} ®
(iv) {4, 7} (v) {2, 8, 10} (vi) {3,6,9, 11}
(vii) {1, 3,6,9, 11, 12} (viii) {1, 2, 8, 10, 12}
(ix) {1,2,3,4,6,7,8,9,10, 11, 12}

2. (i) {2,5,6, 10, 14, 16}, {2, 14}, {6, 10}, {5, 16}
(ii) {a, b, ¢, e, i, 0, u}, {a, e, u}, {b, c}, {i, o}
(iii) {0, 1, 2, 3,4, 5,6,7, 8,9, 10}, {1, 2, 3, 4, 5}, {6, 7, 8, 9, 10,}, {0}
(iv) {m, a, t, h, e, i,¢, 5, g 0,1, ¥}, {e, m, t,}, {a, h, i, ¢, s}, {g, 0, 1, ¥}
3.(1) {a,c e gl (ii) {b, ¢, f, g (i) {a, b, c, e, f, g (iv) {c, g} (v) {c, g}

(vi){a, b,c,e, f, gt (vii) {b, d, f, h} (viii) {a, d, e, h}

D 322 | getmusnd euGLli — seflgib
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4. (i) {0,2, 4,6} (i) {1, 4,6} (iii) {0, 1, 2, 4, 6} (iv) {4, 6} v) {4, 6}
(vi) {0, 1,2, 4,6}  (vii){1,3,5,7} (viii) {0, 2, 3, 5, 7}
5.(1) {1,2,7} (i) {m, o, p, g, j} (iii) {6, 9, 10}
6.() Y-X (i) (Xuy) (i) (X— Y)U(Y— X)
7. (i) R 5 U| (ii) B 5 U | (iii) B 5 §]
AUB ANB (ANB)’
(iv) B 5 Ul (v) B 5 U| (vi) B 5
(B-A) A"UB’ A'NB’
@ @
(vii) (ANB)" = A"UB’
uuind 1.4
1. (i) {1,2,3,4,5,7,9,11} (ii) {2,5} (iii) {3,5}
uuind 1.5
L) {346} (i) {-15,7} (i) {-3,0,1,2,3,4,5,6,7,8}
(iv) {—3, 0, 1,2} v) {1, 2, 4,6} (vi) {4,6} (vii) {—1, 3, 4,6}
2.(1) {abcdef} (ii) {a,b,d} (iii) {a,b,c,d,e,f} (iv) {a,b,d}
uuimd 1.6
1.(i) 15,65  (ii) 250,600 4. (i) 17 (ii) 22 (iii) 47
5. (i) 10 (ii) 10 (iii) 25 6. 1000 7.8 8. sflwner H&6u6 Qevened
9. (i) 185 (ii) 141 (iii) 326 10. 70
11.2=20,y=40,2=30  12.(i)5 (ii) 7 (iii)8  13. 5

eflemL &6 I 323 _
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LW 1.7
6.(1) 7.(2) 8.(4) 9.(3) 10.(4)

12.(1) 13.(1) 14.(3) 15.(4) 16.(1) 17.(4) 18.(3) 19.(3) 20.(1)

2. GG WIEOOTS6IT

L2 2.(1) 3.03) 42 5 @4
11.(2)
. D2 -0 -2 -4 L

1 110 110 11

(i)lﬁ 39 79 159 .
40780160320’ 640 °

3.

uuwimd 2.1

85D &L Led eflenL&6T 2_600T(h, HiFl6d 60T oL (bBLD STLILIL(bETETS).

(ii) 0.101, 0.102, ... 0.109

B5nGL1 Led 6XlemL &6 2_600T(h, SHl6d 660Tm) L (GO STLILIL(HETETS).

(iii) 3 _5_9 _ 17 _ 33

22 4 8 160 32

B850 &L Led eflenL&6T 2_600T(h, SiFl6d 60T oL (bBLD HTLUILIL (HETETS).

1. (i) 0.2857142..., (PQEYDIT SFLPED HEOTEWLD

(iii) 7.3, (WIQEYDT &P HEOTEMLO

2. 0.076293,6 3. 0.0303,2.15

uuinhd 2.2

(i) =5.27, (PIQEYDIT GHLPED HETTEMLO
(iv) 1.635, (pig6ymILd

4.() 59 (i) 555, (i) ~ 55 () 45 ) %3 (v = 5000°
5. (1) ppieymio (i) epigeymid (i) wogeyom - (iv) (pgeymm
uuwimd 2.3

2. (i) 0.301202200222...,0.301303300333...

(iii) 1.515511555..., 1.616611666...
3. 2.2362, 2.2363

1.(i)5* (ii) 57!

3

2.(1) 42 (ii) 42

D 324 | gettusnd euGLli — &Hewflgd
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(ii) 0.8616611666111 ...,0.8717711777111 ...

uuind 2.5
1 3
(iii) 52 (iv) 52
5
(iii) 42
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. . 1 .. 25
3.(1) 7 (i) 9 (iii) > (iv) T
4.(1)5% (ii) 7% (iii) 7? (iv) 10_714
5.(1)2 (i) 3 (iii) 10 (w)%
LI 2.6
1.() 2143 (i) 3¥5 (iii) 26v/3 (iv) 8Y5
2.(1) 30 (i) 5 (iii) 30 (iv) 49a — 25b
) % 3.() 1.852 (ii) 23.978
4. (i) I5> 43> (ii)\/ﬁ>3/%>§/%
5.(i) @ueb (i) Swed (iii) Suwieud (iv) Sweid
6. (i) @uweb (i) Swed (iii) Suwieud (iv) Sweid
@® uuind 2.7 @®
1.(1)1—@ (ii) @ (i) # (iv) @
2. (i) %(5+2\/8) (i) 13— 46 (iif) 9*;@ (iv) —2v5
3. a:_—4,1):E 4. x2+i=18 5. 5.414
3 3 x’
uuind 2.8
1.(i) 5.6943 x 10" (ii) 2.00057 x 10° (iii) 6.0x10°7 (iv) 9.000002 x 10~*
2. (1) 3459000 (i) 56780 (iii) 0.0000100005  (iv) 0.0000002530009
3.(1) 1.44x10% (ii) 8.0x10°% (iii) 2.5 %107 4.(i) 7.0x10°
(i) 9.4605284 x 10”° &LS (iii) 9.1093822 x107*" A
5.(1) 1.505x10° (ii) 1.5522x 10" (iii) 1.224 x 10° (iv) 1.9558 x 107"
L 2.9
1.(4) 2.3) 3.(2) 4.(1) 5 6(2) 7.(2) 8.(2) 9.(4) 10.(1)
11.(4) 12.(4) 13.(4) 14.(2) 15.(2) 16.(3) 17.(2) 18.(4) 19.(2) 20.(3)
Gﬁlam_esehl325_
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3. Bumnaevoflsd

uuwimd 3.1

1. (i) uebeumis Gaememeu Seved (i) LeLAIMILILS CoHTem6
(iii) uebaMIILS Comemer Si6ved  (iv) LOIMILILEG CoHmemeu

(v) uebImILiLE Camemeu (vi) uebamIIBEaHmemeu Siebed
2. x* @6021 61&(1Q x @6iT Q18 (Q
(i) s -3
(i) -2 — ﬁ
(i) T -1
(iv) V3 J2
(v) 1 -7
3.(1) 7 (ii))4 (iii))5 (@(v)6 (v)4
4. O auflend am) euflens
(i) V7xtex+x—9 —9+x+ 65+ /7%
s —Zx4—5x3+\/5x2+x x+«/§x2—5x3—zx4
® (i) 2 2 ®
(iii) 7x3—gx2+ 4x— 1 —1+4x—%x2+ 7x’
Gv) W HVSy Yy —Zy=11 1= 2yt y et /5y 49y
5. (1) 6x*+6x2-14x+17, 3 (ii) 7x*+7x*+11x-8, 3 (iii) 16x*-6x>-5x*+7x-6, 4
6. (i) 7x?+8, 2 (ii) —y*+6y*-14y+2, 3 (iii) z2°-62*-62>-9z+7, 5
7. x*-8x*+11x+7 8. 2x*-3x*+5x>-5x+6
9. (i) 6x*+ 7x>-56x*-63x+18,4  (ii) 105x>-33x-18, 2 (iii) 30x*-77x*+54x-7, 3
10. x*+y*+2xy, I 225 11. 9x2-4, 3596 5.3

12. (g hiuebeImILLS Gameneu Siedend LIedemiLiLs Gamemeuudeor Lig 3
LS 3.2
LG) 6 (i)-6 (i)3 2.1  3.()3 (i) =3 (i) > ()0 (v)0 WD—%
4.() ¢ (i) -3 (i) — =5 (iv) 5
6.()2 ()3 @(i)0 (V1 (V)1
LUl 3.3
1. p(x) eredTLI& g(X) 60T LOL MH1SH6D6D

I 26| gemusnd euLL - sefisid
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2. (i) 188 : 0 (ii) B : % (iii) B : 62
3.158) : —143 4.188) : 2019 5 K=8
6.a=-3,108:27 7.(1) (z —1) @ &mevofll (i) (z —1) Q@ SMIevollebed
8. (z —5) apevrdl p(z) Beor b &Mgevofl 9. m =10 11. k=3 12. b
uuind 3.4
1.(1) 2® +4y° +92° + 4oy + 12yz + 622 (ii) p° 4+ 4¢> +9r° —4dpq + 12qr — 6pr
(iii) 8p® —24p® —14p + 60 (iv) 274" + 274’ —18a — 8
2. (i) 18,107,210 (ii) =32, -6, +90
59 78
3. (i) 14 i) = iii) 78 iv) —
(i) (ii) -0 (iii) (iv) 0
2
4.() 27a° - 64b° - 108a’h + 144a? (i) o'+~ 422 432
vy oy
5.() 941192 (ii) 1003003001
6.29 7.280 8.335 9.198 10. 45, +110
11.36 12.(i) 8a’ +27b° + 64¢® — T2abc (ii) 2° —8y® + 272" + 18zyz
® g ®
13.(i) -630 (ii) -
14.  72xyz
uwimd 3.5
1.(i)2a*(1 + 2b + 4c) (ii) (a —m)(b—c)
2.i) (z + 2)2 (i) 3(a— 47 (i) 2(z +2)(z — 2)(2* +4) (iv) |m + — +5||m +~ — 5]
m m
(v) 6(1+ 62)(1—62)(vi) | — = +4 a—1-4]
a a
3.(1) 2z + 3y +52)°
(i) (=5z + 2y + 32)° (ed60G) (5 — 2y — 32)°
4. (i) (27 + 5y)(42® —10zy + 25y°)
(ii) (3z —2y)(92° + 6zy + 4y°)
(iii) (a+2)(a—2)(a* +4—2a)(a’* + 4+ 2a)
5.(1) (z+2y—1)(2" +4y* +1— 22y + 2y + )
(i) (1 — 2m — 3n)(I* + 4m’ + 9n® + 2lm — 6mn + 3In)
eflemL &6 I 327 _
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Luihél 3.6
1.G) (z+4+6)(z+4)
(i) (z+6)(z—2)
(i) (p—8)(p+2)
(iv) (t—=9)(t—28)
(v) (y—20)(y +4)
(vi) (a+ 30)(a —20)

2.(1) 2a+5)(a+2)

(i) (x —7y)(bz + 6y) (iii)) 2z —3)(4z —3) (iv) 2(3z + 2y)(z + 2y)

(v) 323y +2) (vi) (a+b+6)(a+b+3)

3.()) (p—q—8)(p—q+2)

(i) (m -+ 6n)(m — 4n) (iiD) (a +5)(V5a = 3] (iv) (0 + (@ —1)(a" ~2)

(v) m(4dm + 5n)(2m — 3n) (vi)

uuwimd 3.7

1. (i) rrey : 4x2-6x-5, 188 : 33 (ii) Frey : 4y*~6y+5, 18 : ~10
(iii) Frey : 4x?+2x+1, 6H : 0 (iv) rrey : 822-6z+2, 1B&H : 10

2. Bemd : x+4 3. 2w : 5x-4 4. snat] : x>-5x+25

<

5.() 2> + 4z + 5, 12 (ii) (2> —-1), —2
(iii) 32% — 11z + 40, — 125 (iv) 2g* — % _ 3z 51 109
32 32
6.42° —22° +3,p=-2,¢=0, 65 =-10
7.a =20, b =94 & 158 =388
L 3.8
1.G) (z—2)(z+3)(z—4) (i) (z4+1)(z—2)(2z —1)
(iii) (z —1)(2z —1)(2z + 3) (iv) (z+2)(z +3)(z —4)
(v) (z—1)(z—2)(z+3) (vi) (z —1)(z—10)(z +1)

I 328 gemusnd i - Sefisid
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L 3.9
1.G) p° (i) 1 (i) 3a%b%c®
(v) abc (vi) Tzyz’ (vii) 25ab
2.(1) 1 (i) o™ (i) (2a +1)
(v) (x+1>(x—1) (vi) (a—3x)
LuIHA 3.10
2.(i) (5,2) (ii) erevoreTOIDOM SHTEYHET 2_6iTaT60T
(iv) (=3,-3) (v) (1,3)

3. 75 &S/ weoofl, 25815/ wevofl

Luwiihd 3.11

1.G)(2, -1) (i) (4,2) (iii) (40,100)

(2) 45 (3) 409
LulihHd 3.12

@

1.G) (2,1) (ii) (7,2) (iii) (80,30)

(v) (%,—1) (vi) (2,4) (2)%30000, 40000
uuwimd 3.13

. .. 11
1.(i) (3,4) (ii) (3,-1) (iii) (—5,3)

(2) 2 emumil mTevoTWIRIGEN60T 6T600TE00 IHem&: 60; 5
(3) euflw Gmi 40 weoollEHILWD; Frlw GLpmi 60 wevoflGHITLD

6Teo0T6e00flHemS: 20

1. 64

Luiha 3.14

2.2
7

3. LA=120°, £LB=70°, LC=60°, £ZD=110°

4. e&MemesHHML L auliquieor eflemed = I20000;
GeflTanseorl el 1quiledr eflemed = I10000

5. 40, 48

‘ ‘ Answers_Combine TM.indd 329 @

(iv) 162°
(viii) 1
(iv) 1

(iii) &6y Geveme
(vi) (-3,3)

(iv) (V8,3)

®
) 3
(1V) (1) E)

(3) 75, 15

erpLIMLL ThIT60OTWLIMR S6rfle0T

6. 1 @bSwiT - 18 Brlser; 1 6ot — 36 HIL&6IT
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uuwimd 3.15
1. (4) 2.(3) 3.4 4.(4) 52) 6.(1) 7.4 8.(4) 9.(4) 10.(3)
11.(2) 12.(3) 13.(3) 14.(2) 15.(3) 16.(3) 17.(4) 18.(2) 19.(3) 20.(2)

21.(4) 22.(3) 23.(2) 24.(1) 25.(2) 26.(3) 27.(1) 28.(3) 29.(2)
4. euqeiwied

LW 4.1
1. (i) 70° (ii) 288° (iil) 89° 2.30°, 60°, 90° 5. 80°, 85°, 15°
uuin e 4.2
1. (i) 40° 80° 100° 140° 2. 62°,114°, 66° 3. 44° 4. 10cm
7. (i) 30° (i) 105° (iii) 75° (iv) 105° 8. 122°, 29°

9.1:1 10. d=7.6

@ uuinhd 4.3 @
1. 24 a&d 2. 1761815 3. 86815 , 45°, 45°
4. 18@&15 5. 14 e&1b 6. 6 Q5L
7. (i) 45° (ii) 10° (iii) 55° (iv) 120° (v) 60°

8. ZBDC = 25°,/DBA = 65°,/COB = 50°

uuwind 4.4
1. 30° 2.(i) LACD = 55° (ii)) ZACB = 50° (iii) ZDAFE =25°

3. LA=64°% /B=80% £C =116°% /D =100°

4.() ZCAD = 40° (ii) ZBCD = 80° 5. Symb=5 &S 6. 3.258
7. LOAC = 30° 8. 5.610 9. ZRPO = 60°
uuind 4.7

1.(2) 2.(3) 3.(1) 4(4) 54 63 7.2 8(2) 9.4 10.(2)

11.(3) 12.(3) 13.(1) 14.(1) 15.(4) 16.(2) 17.(2) 18.(3) 19.(2) 20.(4)

I 330| gemusnd euL - sefisid
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5. HUISHESTEmED 6u1q.6)luled
uuimd 5.1

1. P(-7,6) = &mpugd 11 t; Q(7,-2) = sMHUGSSH IV; R(-6, -7) = &snHuGSH 111 ;
8(3,5) =&muddl I; oomio T (3,9) = &MHUGS

2.(i)) P=(-44) (i) Q =(3,3) (iii) R=(4,-2) (iv) S= (-5,-3)

3. (i) x -9188DH©& Qemevorwineor CrI&HGsMh

(i) y-21&dleor Coed Siemombgiemer CrI&HGHmb. 4. (i) s&OD (ii) &fleusld
uuwimd 5.2
1. (i) /10 106 (ii) 2v/26 SiDGSS6T (iii) c-a  (iv)13 Si0GS6T
2. (i) @ GamLemwwdb (i) QB CHMLemow|b 7. 5 aieveog 1
8. A @601 HW15FHTemELEYHET (9, 9) Sisbeog (-5,-5) 9. y=4x+9
10. P @6b1 Spu1668Temeveyser (2,0) 12. 30¢2
uuwimdl 5.3
® ®
L3) (—4,-1) (i) (0,-1) (iii) (a+b,a) (iv) (1,-1)
2. (=5,-3) 3. P=-15 4. (9,3)(=5,5) wHmid (1,1)
9 3
5 | —,— 6. (1,8
23] 0.9
uuwind 5.4
1. (7,3) 2. 5:2 3. (3,4)
19 13 -9 -15
4. (-2,3),(1,0 5. 1 —— 1|, | —— 7. (3,2
(-2,3),(1,0) (22)(2 2) (3,2)
uuind 5.5
: . [ =8 —11 .
1(1) (2,—3) (11) (?,T] 2. (4,—6) 3. 5 se0@sen
4. 20 5 3 gé)lel)@ansh 6. (1,0) 7. (5,-2)
uuimd 5.6

1. (3) 2.(3) 3.(3) 4.2) 5(2) 6.(4) 7.(3) 8((3) 9.(3) 10.(3)
11.(4) 12.(1) 13.(3) 14.(4) 15.(2) 16.(3) 17.(2) 18.(2) 19.(4) 20.(2)
aeLsar | 331 NG
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6. WsGameooreled

uuwimdl 6.1
4 41 41 4
1. smB—icosB——OtanB—i cosecB——scB——ctB——0
41 41 40 9 40 9
12 13 5 4
2. (i) sinB=— ii) secB=— iii) cotB=— iv) cosC=—
(i) T (ii) - (iii) 5 (iv) s
3 . 5
(v) tanC = 1 (vi) cosecC= 3
1 3 2 2
3. sinf=— ,cosH—£ tan@——, cosec@——,sec0=—;cot0=x/§
2 NG NG
_ 2 _ 2
4. i 5. sinA—1 X tanA—1 X 7. l
40 1+ x* 2x 2
1 4 4 4
8. — 9. sina=—;cosff=—;tangp=— 10. 718
2 5 5 3
LI 6.2
) 7
2.(1) 0 (ii) 1 (iii) 3 4., 2
® uuind 6.3
1.() 1 (i) 1 (iii) 1 (iv) 2
uuiInhd 6.4
1.(i) 0.7547 (ii) 0.2648 (iii) 1.3985 (iv) 0.3641
(v) 0.8302 (vi) 2.7907 2.(1) 85°57” (or) 85°58" (or) 85°59’
(ii) 47°27’ (iii) 4°7’ (iv) 87°39’ (v) 82°30°
3.(1) 1.9970 (ii) 2.8659 4. 18.81 eg152 5. 36°52°
6. 54.02 15
uuInd 6.5
1. (1) 2.2) 3.(2) 4.(3) 5((2) 6.(3) 7.(3) 8.(1) 9.(2) 10.(2)
7. Siemedlwed
uuind 7.1
1.(i) 120 a&L52 (i1) 7.2 152 2. 1320 15%, 326400 3. 12000 52
4. 1558.8 a1g1H> 5. ¥1050 6. 240 &> 7. 138 egd?

I 32| genusnd auLL - sefisid
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8. 354152 9. 1536 15> 10. 672 152
uuwimd 7.2
1.(i) 1160 e&H?, 560 a&LH> 2. %1716 3. 33349
4.(i) 384152 256 152 (ii) 2646 68152, 1764 e8> (iii) 337.5 @&id?, 225 61&152
5.(i) 1600 e&L5> 6. 253.5015%, T6084 7. 224 e515%, 128 615152
uuwimd 7.3
1.(i) 576 e&s? (ii) 2250 15° 2. 630 agd?
3. 25eab, 20 6805, 15 655 4.2624000 el _L[T&6T 5.25000
6. 1216 7. (i) 125 e&d®  (ii) 42.87515° (iii) 9261 e&h?
8. 518 9. 15 a&b
uuind 7.4

[a—

.(3)  2.(2) 3.(4) 4.3 53 6.(1) 7.(2) 8(3) 9.(4) 10.(1)

7. Yerefluiwed
® uuind 8.1 ®

1. 27°C 2. 44 &&l 3. 56.96 (sieve0g)) 57 (Camrmuons)
4. 142.5 16153 5. p=20 6. 40.2 7. 29.29 8.29.05

uuinhd 8.2
1. 47 2. 44 3. 21 4,32
5 31 6. 38

uwimd 8.3
1. 6600, 7000, 7000 2. 3.1 wpmid 3.3 (BmwsHbh) 3. 15
4. 40 5. 24 6. 58.5

LI 8.4
1.(1) 2.3 3.(3) 4.(2) 5((1) 6.4 7.(1) 8.(2) 9.(2) 10.(3)

e aer | 333 NG
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8. H&ssey
uuind 9.1
L ) 2 ;. 1 A =
7 13 2 24
1 2 1
i) = i) = 5 — 6.(1) 0
(ii) 2 (iii) 3 1 (i)
1 1 1
i) — iii) 1 7. — 8. =
(if) 12 (iif) 280 5
9, 3
4
uuwime 9.2
1.0.9975 ,, 209 3. 12 4. 028
400 8
L1 8 .
5.(i) p (ii) o (iii) 75
uuwimé 9.3

L(4) 2.2 3.(1) 44 5() 6@ 7.(4) 8(4) 9.(1) 10.(2)

I 34| genusnd auL - sefisid

‘ ‘ Answers_Combine TM.indd 334 @ 14-12-2021 14:01:54‘ ‘



	Answers_Combine TM

